FURTHER SOLUTION OF TRIGONOMETRIC EQUATIONS
1 SolveforO0<x<2m
(@) sin(2x)=0.5 (b) cos(3x)=1 (c) tan(2x)=1
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FURTHER SOLUTION OF TRIGONOMETRIC EQUATIONS

2 Solvefor-n<x<m

(@) tan(%)z% (b) sm(§)=—% (c) cos(
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FURTHER SOLUTION OF TRIGONOMETRIC EQUATIONS

3 Solve, for0<x<2m

(a) 2cos(x—%)=l (b) ﬁsin(x+%)=] (c) ZCOS(X—£)=\/§
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FURTHER SOLUTION OF TRIGONOMETRIC EQUATIONS

4 Solve, for—-r<x<m

(@ 2cos2x=1 (b) cos(Zx—%):l (c) sin

E — —
2x+6)— 1
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FURTHER SOLUTION OF TRIGONOMETRIC EQUATIONS

5 (a) Solve, for 0 <x<2mr, ﬁcos(% + %) =1L (b) Solve, for-3r<x<3m, tan(
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FURTHER SOLUTION OF TRIGONOMETRIC EQUATIONS

7 Solve over the given domain
(@) cosx+3sinx=1 for 0<x<2n (b) sin2x =1 +cos2x for 0<x<mu
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